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As f(t)=cos2t+sinbt, B. f(t)=f(t+mT)
C. x(n)=x(n+mN ) ; D. x(n)=sinTn+e™
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As 8(n)=Vu(n); B. O(1)* f(1)=f(1)
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c. [smft)dr=f(0);
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AL y”+6y(r)+jy(r)dr 4f(0); By ()= f(1=1);
C. %+6ty(t)=4f(t); D. y(n)=x(n)+3
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A h(t)="h(t)*hy(t);

B. h(n)=h(n)+mh(n);

C. H(s)=H,(s)Hy(s);

D. h(n)*h(n)=358(n)dFRGHNEES
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H(s)=—23"1 ~l<o<2.
(s+1)(s—2) :
B, A(t)=eMu(t+1)
c. H(z)=—2F2 L
(2=3)(z=3)  °

D. y(n)=x(2n)
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A, h(t)=358(t-1),
B. h(t)=eu(t),
C. H(w)=2Gy(w)e™™
z> —2azcosw, +a’
H(z)= L 1
D. H(2) z’—2a'zcosw, +a” (a>1)
8./\’5361%%517‘9H(s)=s2:s+ - URGHIBBRHES ( 18
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A. K>0; B. 0<K <12,
C. K»-24 D. —2<K <2
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1. SR E S HHERIER;

2. @Hﬁ——d];(t 8 (=t BT

3. iJrﬁjff(z)[&(Hé)Jr5(:—%)]dt;
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5. 1T £(1)% 3 8(t—2n) MEEHGRBAFRESHE: ERF. ER/ARA. HR/

n=-—co
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6. RISS F(1)u(t) Bt B H AT F(s) .

7.8 fOERBNGE S, B H(w) =G, (o) MRS, E 2 Fim, HREBES (1)
BT TRBMRE, RRESHR/MIRTE (SHAHSE .
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d*y(t)  dy(t) _df(t)
" +5 - +6y(t)———dt + f(t)

1. (449 RRERGRMH(s), FrrEHsosR;

2. (443) SREPRERR A(t) ;

3. (540 W f(t)=eu(t), REGKBIRAIPL

4. (124p) BHERGHAFIER, AEHARGRREFTIE, MBAELULA. B. C. D
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y(n)+0.2y(n—1)—-0.24y(n—-2) =x(n)+x(n—1) ,
x(m)=u(n), y(-)=0, y(-2)=0

(1) (343) RARGREH(2);

(2) (44 RENFEEN R A(n) 5

(3) (443 RWIRL y(n);
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1. BRI RGBS ()R, (n) + BRI REMRIR A()=R,(7) » Tk
REGWEE y(n) , FEE.

2. 1M HN=2" , K LAERYN, E2HFFTERERZD?
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1. (8 &) BAE—BIAES, HEBWEME =5tz , AFIESME £, =120Hz , KM FFT
ST IE AT . RN RE LT FFT S8 (RS0 2 EBHR).

(1) BRI

(2) B/MOCRAT A

(3) Fm/PMFEREL.
2. (845 Bl ) RO ITAEHN x (o) o Y X () FRIFT y0i = 22D i i
u+7}t5%}’(ej‘”) 0
3. (94) EBEER A REMEDTIEN y)-05y(mn-1)=x(n) » WHEIANA x(n)=0.Tu(n) ,
y(=D=15 - XR:
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